

## Improved reverses Young type inequalities

**Xuesha Wu**

*School of General and International Education  
Chongqing College of Electronic Engineering  
Chongqing, 401331  
P.R. China  
xuesha\_wu@163.com*

**Abstract.** The main purpose of this paper is to present new reverses Young type inequalities for numbers. Then, we use these inequalities to establish corresponding reverses Young type inequalities for operators.

**Keywords:** reverse Young type inequality, Kantorovich constant, positive operator.

### 1. Introduction

Throughout this paper,  $\mathcal{B}(\mathcal{H})$  stands for the  $C^*$ -algebra of all bounded linear operators on a Hilbert space  $(\mathcal{H}, \langle \cdot, \cdot \rangle)$  and  $m, m', M, M'$  are scalars. An operator  $A$  is said to be positive (denoted  $A \geq 0$ ) if  $\langle Ax, x \rangle \geq 0$  for all  $x \in H$ , and  $A$  is said to be strictly positive (denoted  $(A > 0)$ ) if  $A$  is positive and invertible.

For  $A, B > 0$  and  $0 \leq v \leq 1$ , the  $v$ -weighted arithmetic mean  $A\nabla_v B$  and the  $v$ -weighted geometric mean  $A\sharp_v B$  are defined by

$$A\nabla_v B = (1 - v)A + vB, A\sharp_v B = A^{\frac{1}{2}} \left( A^{-\frac{1}{2}} B A^{-\frac{1}{2}} \right)^v A^{\frac{1}{2}},$$

when  $v = \frac{1}{2}$ , we write  $A\nabla B$  and  $A\sharp B$  for brevity for  $A\nabla_{\frac{1}{2}} B$  and  $A\sharp_{\frac{1}{2}} B$ , respectively.

It is well-known that

$$A\sharp B \leq H_v(A, B) \leq A\nabla B,$$

where  $H_v(A, B) = \frac{A\sharp_v B + A\sharp_{1-v} B}{2}$  is called Heinz mean.

The classical Young inequality says that if  $a, b \geq 0$  and  $0 \leq v \leq 1$ , then

$$(1.1) \quad a^v b^{1-v} \leq va + (1 - v)b$$

with equality if and only if  $a = b$ . When  $v = \frac{1}{2}$ , we have  $\sqrt{ab} \leq \frac{a+b}{2}$ .

In 2011, Zou et al. [1] proved the refined version of (1.1)

$$(1.2) \quad va + (1 - v)b \geq K(h, 2)^r a^v b^{1-v},$$

where  $K(h, 2) = \frac{(h+1)^2}{4h}$  is called Kantorovich constant,  $h = \frac{a}{b}$  and  $r = \min\{v, 1 - v\}$ .

Hu [2] obtained the refinement of the inequality (1.1) as follows:

$$(1.3) \quad v^2 a^2 + (1 - v)^2 b^2 \geq v^2 (a - b)^2 + [(va)^v b^{1-v}]^2, \quad 0 \leq v \leq \frac{1}{2}$$

and

$$(1.4) \quad v^2 a^2 + (1 - v)^2 b^2 \geq (1 - v)^2 (a - b)^2 + [a^v ((1 - v)b)^{1-v}]^2, \quad \frac{1}{2} \leq v \leq 1.$$

Moreover, Nasiri and Liao [3] derived the following reverse Young inequalities:

$$(1.5) \quad (1 - v)^{2v} [(1 - 2v)a + 2vb] + (1 - v)^{2-2v} a^{2v} b^{1-2v} K(h, 2)^{-r} \geq 2(1 - v)\sqrt{ab},$$

$$(1.6) \quad (1 - v)^{2-2v} [2va + (1 - 2v)b] + (1 - v)^{2v} a^{1-2v} b^{2v} K(h, 2)^{-r} \geq 2(1 - v)\sqrt{ab},$$

where  $0 \leq v \leq \frac{1}{2}$  and  $r = \min \{2v, 1 - 2v\}$ .

By (1.5) and (1.6), Nasiri and Liao [3] gave the following inequalities:

$$(1.7) \quad (1 - v)^{2v} \left( \frac{a + b}{2} \right) + (1 - v)^{2-2v} \left( \frac{a^{2v} b^{1-2v} + a^{1-2v} b^{2v}}{2} \right) K(h, 2)^{-r} \geq 2(1 - v)\sqrt{ab},$$

$$(1.8) \quad (1 - v)^{2-2v} \left( \frac{a + b}{2} \right) + (1 - v)^{2v} \left( \frac{a^{2v} b^{1-2v} + a^{1-2v} b^{2v}}{2} \right) K(h, 2)^{-r} \geq 2(1 - v)\sqrt{ab},$$

where  $0 \leq v \leq \frac{1}{2}$  and  $r = \min \{2v, 1 - 2v\}$ .

For some related of Young inequalities, the reader is also referred to recent papers [4-8], and references therein.

Motivated by the aforementioned discussion, we will obtain sharper results than (1.5)-(1.8) in this paper .

### 2. Main results

In this section, we will give the reverses Young type inequalities for numbers and operators.

**Theorem 1.** *Let  $a, b \geq 0$  and  $0 \leq v \leq \frac{1}{2}$ , then*

$$(2.1) \quad (1 - v)^{2v} [(1 - 2v)a + 2vb] + (1 - v)^{2-2v} a^{2v} b^{1-2v} \geq 2(1 - v)K(h, 2)^{\frac{r}{2}} \sqrt{ab}$$

and

$$(2.2) \quad (1 - v)^{2-2v} [2va + (1 - 2v)b] + (1 - v)^{2v} a^{1-2v} b^{2v} \geq 2(1 - v)K(h, 2)^{\frac{r}{2}} \sqrt{ab},$$

where  $K(h) = \frac{(h+1)^2}{4h}$ ,  $h = \frac{a}{b}$  and  $r = \min\{2v, 1 - 2v\}$ .

**Proof.** For  $0 \leq v \leq \frac{1}{2}$ , by inequality (1.2), we have

$$\begin{aligned} & (1 - v)^{2v} [(1 - 2v)a + 2vb] K(h, 2)^{-\frac{r}{2}} \\ & + (1 - v)^{2-2v} a^{2v} b^{1-2v} K(h, 2)^{-\frac{r}{2}} - 2(1 - v)\sqrt{ab} \\ & \geq (1 - v)^{2v} a^{1-2v} b^{2v} K(h, 2)^{\frac{r}{2}} + (1 - v)^{2-2v} a^{2v} b^{1-2v} K(h, 2)^{-\frac{r}{2}} - 2(1 - v)\sqrt{ab} \\ & = \left[ (1 - v)^v a^{\frac{1-2v}{2}} b^v K(h, 2)^{\frac{r}{4}} - (1 - v)^{1-v} a^v b^{\frac{1-2v}{2}} K(h, 2)^{-\frac{r}{4}} \right]^2 \\ & \geq 0. \end{aligned}$$

Thus, (2.1) holds.

Similarly, we have

$$\begin{aligned} & (1 - v)^{2-2v} [2va + (1 - 2v)b] K(h, 2)^{-\frac{r}{2}} \\ & + (1 - v)^{2v} a^{1-2v} b^{2v} K(h, 2)^{-\frac{r}{2}} - 2(1 - v)\sqrt{ab} \\ & \geq (1 - v)^{2-2v} a^{2v} b^{1-2v} K(h, 2)^{\frac{r}{2}} + (1 - v)^{2v} a^{1-2v} b^{2v} K(h, 2)^{-\frac{r}{2}} - 2(1 - v)\sqrt{ab} \\ & = \left[ (1 - v)^{1-v} a^v b^{\frac{1-2v}{2}} K(h, 2)^{\frac{r}{4}} - (1 - v)^v a^{\frac{1-2v}{2}} b^v K(h, 2)^{-\frac{r}{4}} \right]^2 \\ & \geq 0. \end{aligned}$$

Thus, (2.2) holds.

This completes the proof. □

**Corollary 1.** Let  $a, b \geq 0$  and  $0 \leq v \leq \frac{1}{2}$ , then

$$(1 - v)^{2v} [(1 - v)a + vb] + (1 - v)^{2-2v} a^v b^{1-v} \geq 2(1 - v)K(h, 2)^{\frac{r}{2}}\sqrt{ab}$$

and

$$(1 - v)^{2-2v} [va + (1 - v)b] + (1 - v)^{2v} a^{1-v} b^v \geq 2(1 - v)K(h, 2)^{\frac{r}{2}}\sqrt{ab},$$

where  $K(h) = \frac{(h+1)^2}{4h}$ ,  $h = \frac{a}{b}$  and  $r = \min\{v, 1 - v\}$ .

**Corollary 2.** Let  $a, b \geq 0$  and  $0 \leq v \leq \frac{1}{2}$ , then

$$\begin{aligned} & (1 - v)^{2v} \left( \frac{a + b}{2} \right) + (1 - v)^{2-2v} \left( \frac{a^{2v} b^{1-2v} + a^{1-2v} b^{2v}}{2} \right) \\ (2.3) \quad & \geq 2(1 - v)K(h, 2)^{\frac{r}{2}}\sqrt{ab} \end{aligned}$$

and

$$\begin{aligned} & (1 - v)^{2-2v} \left( \frac{a + b}{2} \right) + (1 - v)^{2v} \left( \frac{a^{2v} b^{1-2v} + a^{1-2v} b^{2v}}{2} \right) \\ (2.4) \quad & \geq 2(1 - v)K(h, 2)^{\frac{r}{2}}\sqrt{ab}, \end{aligned}$$

where  $K(h) = \frac{(h+1)^2}{4h}$ ,  $h = \frac{a}{b}$  and  $r = \min\{2v, 1 - 2v\}$ .

**Remark 1.** Our results are better than (1.5)-(1.8). In fact, we have

$$\begin{aligned} & (1-v)^{2v} \left(\frac{a+b}{2}\right) + (1-v)^{2-2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-r} \\ & - (1-v)^{2v} \left(\frac{a+b}{2}\right) K(h, 2)^{-\frac{r}{2}} - (1-v)^{2-2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-\frac{r}{2}} \\ & = (1-v)^{2v} \left(\frac{a+b}{2}\right) \left[1 - K(h, 2)^{-\frac{r}{2}}\right] \\ & - (1-v)^{2-2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-\frac{r}{2}} \left[1 - K(h, 2)^{-\frac{r}{2}}\right] \\ & = \left[1 - K(h, 2)^{-\frac{r}{2}}\right] \left[(1-v)^{2v} \left(\frac{a+b}{2}\right) - (1-v)^{2-2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-\frac{r}{2}}\right] \\ & \geq \left[1 - K(h, 2)^{-\frac{r}{2}}\right] \left[(1-v)^{2v} \left(\frac{a+b}{2}\right) - (1-v)^{2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right)\right] \\ & \geq 0. \end{aligned}$$

Similarly, we have

$$\begin{aligned} & (1-v)^{2-2v} \left(\frac{a+b}{2}\right) + (1-v)^{2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-r} \\ & \geq (1-v)^{2-2v} \left(\frac{a+b}{2}\right) K(h, 2)^{-\frac{r}{2}} + (1-v)^{2v} \left(\frac{a^{2v}b^{1-2v} + a^{1-2v}b^{2v}}{2}\right) K(h, 2)^{-\frac{r}{2}}. \end{aligned}$$

**Theorem 2.** Let  $A, B$  be two operators satisfy  $0 < mI \leq A \leq m'I < M'I \leq B \leq MI$  where  $m, m', M', M$  are positive real numbers such that  $m < m' < M' < M$ . Then for  $0 \leq v \leq \frac{1}{2}$ ,

$$(2.5) \quad (1-v)^{2v}(A\nabla B) + (1-v)^{2-2v}H_{2v}(A, B) \geq 2(1-v)K(h, 2)^{\frac{r}{2}}A\sharp B$$

and

$$(2.6) \quad (1-v)^{2-2v}(A\nabla B) + (1-v)^{2v}H_{2v}(A, B) \geq 2(1-v)K(h, 2)^{\frac{r}{2}}A\sharp B,$$

where  $K(h) = \frac{(h+1)^2}{4h}$ ,  $h = \frac{M}{m}$ ,  $h' = \frac{M'}{m'}$  and  $r = \min\{2v, 1 - 2v\}$ .

**Proof.** If  $0 \leq v \leq \frac{1}{2}$  and  $x \geq 0$ , by inequality (2.1), we have

$$(1-v)^{2v}[(1-2v) + 2vx] + (1-v)^{2-2v}x^{1-2v} \geq 2(1-v)K(x, 2)^{\frac{r}{2}}\sqrt{x}.$$

Let  $X = A^{-\frac{1}{2}}BA^{-\frac{1}{2}}$ . It is easy to know that

$$0 < h'I \leq X \leq hI.$$

By the monotonicity of operator functions and (2.1), we have

$$\begin{aligned} & (1-v)^{2v} \left[ (1-2v) + 2vA^{-\frac{1}{2}}BA^{-\frac{1}{2}} \right] + (1-v)^{2-2v} \left( A^{-\frac{1}{2}}BA^{-\frac{1}{2}} \right)^{1-2v} \\ & \geq 2(1-v)K(h, 2)^{\frac{r}{2}} \left( A^{-\frac{1}{2}}BA^{-\frac{1}{2}} \right)^{\frac{1}{2}} \end{aligned}$$

and so

$$(2.7) \quad (1-v)^{2v} [(1-2v)A + 2vB] + (1-v)^{2-2v} A\sharp_{1-2v}B \geq 2(1-v)K(h, 2)^{\frac{r}{2}} A\sharp B.$$

Replacing  $A$  and  $B$  by  $B$  and  $A$  respectively in (2.7), we have

$$(2.8) \quad (1-v)^{2v} [(1-2v)B + 2vA] + (1-v)^{2-2v} A\sharp_{2v}B \geq 2(1-v)K(h, 2)^{\frac{r}{2}} A\sharp B.$$

Summing (2.7) and (2.8), we have

$$(1-v)^{2v}(A\nabla B) + (1-v)^{2-2v}H_{2v}(A, B) \geq 2(1-v)K(h, 2)^{\frac{r}{2}}A\sharp B.$$

Similarly, (2.6) holds.

This completes the proof.  $\square$

## References

- [1] H. Zuo, G. Shi, M. Fujii, *Refined Young inequality with Kantorovich constant*, J. Math. Inequal., 5 (2011), 551-556
- [2] X. Hu, *Young type inequalities for matrices*, J. East China Norm. Univ. Natur. Sci. Ed., 4 (2012), 12-17
- [3] L. Nasiri, W. Liao, *The new reverses of Young type inequalities for numbers, operators and matrices*, Oper. Matrices, 12 (2018), 1063-1071
- [4] X. Hu, J. Xue, *A note on reverses of Young type inequalities*, J. Inequal. Appl., 98 (2015).
- [5] X. Hu, F. Yang, J. Xue, *On improved Young type inequalities for matrices*, Ital. J. Pure Appl. Math., 34 (2015), 413-420.
- [6] Y. Peng, *Young type inequalities for matrices*, Ital. J. Pure Appl. Math., 32 (2014), 515-518.
- [7] F. Kittaneh, Y. Manasrah, *Improved Young and Heinz inequalities for matrices*, J. Math. Anal. Appl., 361 (2010), 262-269.
- [8] Y. Al-Manasrah, F. Kittaneh, *A generalization of two refined Young inequalities*, Positivity, 19 (2015), 757-768.

Accepted: 19.12.2018